
Time: 10 Minutes Paper Math 4 Total Marks: 10

1st Month, 1st Week, 1st Day Syllabus: Unit 1 Exercise # 1  Q No. 1, 2, 3

Q.No.1 Encircle the correct answer from the following choices. (5)


i. What is the place of "3" in 67 431?  (3)  67 431

(a) 3 ones (b) 3 tens (c) 3 hundreds (d) 3 thousands

ii. The place value of digit 2 in number is 53 210:  253 210 
(a) 20 (b) 200 (c) 2 000 (d) 20 000

iii. Place value of the digit 7 in 93 705 is:  7  93 705

(a) 7 (b) 70 (c) 700 (d) 7 000

iv. 78 500 can be written as in expanded form:  78 500

(a) 70 000 + 8 000 + 500 + 00 + 0 (b) 7 000 + 800 + 50 + 0

(c) 700 000 + 80 000 + 5 000 + 00 + 0 (d) None of these 
v. 70 000 + 6 000 + 500 + 20 + 1 = ?

(a) 76 651 (b) 76 621 (c) 76 521 (d) 76 125

Q.No.1.   Write the following numbers in the expanded from. (2)

 1 

(i) 57 890 _______________________________________________________

(ii) 22 167 _______________________________________________________

Q.No.3.   Write the place and place value of the underline digits. (3)

 3 
Numbers  Place  Place Value 
(i) 76 102

(ii) 24 360

(iii) 86 042 
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